INSTALLATION
INSTRUCTIONS

PART NUMBER: F551SVA000

DESCRIPTION: IMPREZA SEDAN (inc. WRX/STI)

REAR CARGO NET - TRUNK

A | KIT CONTENTS:

1X B | Note: Upper T-Anchor Assy 2X

o

Nylon Spacer

[¢] [¢)
C 2X| D| 2X | E 2X F | 2X| G |2X| H 2X | | 2X
Note: Upper U-Nut | Note: Upper |Note: Lower U-Nut | Note: Hex Note: Note: Lower | Note: Lower Web
M5x22 OD Head Bolt | M4 Washer | M5x15 OD Strap

Nylon Spacer

TOOLS REQUIRED:

S

“
2 &

Meaning of Characters:

« : Remove
<: - Install

E : Driver side rear cargo area

: Disconnect

: Connect

T
: Location of pre-arranged mark @ : Recyclable

: Tightening Torque

: Loosen

: Discard

- View

B* : Passenger side rear cargo area

ISSUE

DATE
11/25/2014

SUBARU OF AMERICA

5INS132090SU




NOTE: Installation steps shown below are for the passenger's side of the vehicle.
Please follow the same steps for the drivers side.

1 2 B__ Locate trim plugs indicated.

3 B—- Remove upper, lower and center 4 E Carefully pull back side trim to
=" trim plugs from panels. —| access upper clip mounting point.

&
Note: Retain center trim plug for

re-installation.

4a E_ 5 5_ Carefully remove trim panel to
access lower clip mounting points.
\
j\ \ \
S5 ko SUBARU OF AMERICA 3

5INS132090SU



5a

/

6 B— Note: Reinstall side trim panel.
Fit upper spacer onto the

T-anchor and hand tighten until

snug.

Reinstall lower trim panel.

L

(y 0

N
1B

Note: Reinstall center trim plug retained
in step three.

8 Note: Check graphic for proper orientation
prior to inserting bolt,washer, and

spacer assembly into the web strap.

A

@ Correct orientation
when assembled.

~

E ) Bottom

0-0)
To prepare the lower web strap for
installation, insert the steel washer

onto the bolt, passing bolt through

lower web strap, then fit nylon

spacer to the other side.

(a) To attach web strap, loosely thread
the assembly into the lower trim hole.
(b) Snap cargo net bag to lower web strap.
(c) When positioned properly, torque lower
bolt to 10 in-lbs (1 N-m).

1 0 B (a) To complete final installation,
= un-zip the pouch making sure the

handle is facing toward the rear of
the vehicle.

(b) Place each bungee loop around the upper
T-Anchor as shown in graphic.

ISSUE DATE
5 11/25/2014

SUBARU OF AMERICA R

5INS132090SU




NUMERO DE PIECE : F551SVA000

INSTRUCTIONS

DESCRIPTION : BERLINE IMPREZA (y compris WRX/STI)

D’INSTALLATION

FILET D'ARRIMAGE A L'ARRIERE - COFFRE

A [CONTENU DU NECESSAIRE : 1x B | Remarque : Ancrage en T supérieur  2X
2o oo™ "6;5;.‘...-’7 © 76 6 0 & ® & @ |
R S0R00029052503 [585850985038505g
€ S o S S K D €2
€ & & & > € XK KK € € 3K € € 2€ >€4
‘0'0’0’0:0:0:0:0:0:0:0:0:0:0:0:«
SSSCSCICIICICICICICICICICIE S
0 %6200 %0 0026 %¢ %%+ %% %>
Y24 %2620 20 4% %% %+ %< %%
I I I I K > K & K € K K
o [o)
(03 2X | D| 2x | E 2X| F | x| G| 2x| H| 2x| | 2X
R . Remarque : ) R ) . .
lemarque : Entretoise de |Remarque : emarque : |Remarque : |Remarque : Remarque : Sangle
Ecrou en nylon Ecrou en Boulon & Rondelle M4 |Entretoise de | en toile inférieure
U supérieur supérieure | U inférieur téte nylon inférieure
M5x22 OD hexagonale M5x15 OD
20

OUTILS REQUIS

S

Signification des symboles :

« : Enlever

<: : Poser
‘ » : Déconnecter
ﬁ) <3 : Connecter

: Emplacement de la marque

: Espace utilitaire c6té passager

: Espace utilitaire cété conducteur

T : Couple de serrage
@ : Desserrer
@ : Jeter
: Recyclable
Ya
@ :Vue

VERSION DATE
5 25/11/2014

SUBARU OF AMERICA

PAGE
13

5INS13209FSU




REMARQUE : Les étapes d'installation ci-aprés s'adressent au c6té passager du véhicule.
Vous devez suivre les mémes étapes pour le coté conducteur.

1 2 EL Repérer les capuchons indiqués.

3 EL Retirer les capuchons supérieur, 4 EL Soulever soigneusement |a

e garniture latérale pour accéder au
—_ inférieur et central des panneaux. point de fixation de 'agrafe

supérieure.
| é\
Remarque : Conserver le capuchon \ [

central pour la réinstallation.

4aE 5 B‘ Retirer soigneusement le

garnissage pour accéder au point

de fixation de I'agrafe inférieure.
\
A \
i

VERSION s SUBARU OF AMERICA i

5INS13209FSU




5a| .

Remarque : Réinstaller le panneau de garnissage
6 latéral. Fixer I'entretoise supérieure

sur l'ancrage en T et bien serrer
manuellement.

Réinstaller le panneau de
garnissage inférieur.

02

Remarque : Réinstaller le le capuchon central

conservé a l'étape 3.

Remarque : Consulter le graphique pour connaitre
8 I'orientation appropriée avant d'insérer le

L

boulon, la rondelle et I'entretoise dans la
sangle en toile.

@ Orientation correcte
lorsqu'assemblé.

~

[)Bas

9-(0)

Pour vous préparer a installer la sangle
en toile, insérer la rondelle en acier sur le
boulon, en faisant passer le boulon dans
la sangle en toile inférieure, puis insérer
I'entretoise de nylon de I'autre coté.

(a) Pour fixer la sangle en toile, insérer I’
ensemble dans le trou du panneau de
garnissage inférieur en laissant du jeu.

(b) Attacher le sac du filet a bagages a la
sangle en toile inférieure.

(c) Une fois correctement positionné, serrer

10 B‘ (a) Pour terminer l'installation, ouvrir la

pochette en vous assurant que la

les boulons au couple de 10 Ib-pi (1 N-m).

poignée est orientée vers |'arriére du
véhicule.

(b) Insérer chaque anneau autour de I'ancrage
en T supérieur comme montré sur le
graphique.

VERSION DATE
5 25/11/2014

SUBARU OF AMERICA PAGE

3/3

5INS13209FSU




